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’ ! l 1O marke o 1) l I I Jlj...dl_ ‘
& A4l Ac o) 10 kg 4L Bydins 010 anaad
phas o J}A“' UKoY Jalas 400! Ag\b

Quostion

constant speed on o horizontal table,

The coctficient of kinetic friction botween 0.25 Byaseally gl
the table and the box is 0.2% W—

Tl

{315

a. Write the symbol of each of the following forces in the correct label shown in

the free body diagram above.
(Weight( F, ) - kinetic friction force( Fy ) - Normal force( Fy)
o gl hihie e xonall Jdaiall § LW 98l o S 50) S 2
((Fy )&aganll s9dll = (Fy ) $,J I8V 899 - (Fy ) 09

b. Calculate the force( F, ) exerted by Mariam on the box.
Aginall conws § @ye g2 35 I (F; ) 832l e ans! b

F‘ = FK juMKgM il Mt"M ....... S T e e
..................................................................... Rrrrn &.ZSK\Q}Qag
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9
A 90 N crate is resting on a plane inclined | aua Jib P L,l.r. 90 N 4i)q *-55"“‘@-’“‘“‘"
' at 37°above the horizontal. Find the laso )E'ml Qus::!l Sgunall 399 37 gl
:fnliuwing: b |
|
|
3. The weight component parallel to the plane (F,,) (Fx) dasd) &jlgall gl 4550 .2
ST St T SR 32N\ ..,/ D, _
ij g G e
............................. el 90 S\\AS? e | 6L{ \/U‘
b. The normal force (Fy) (Fy) L90all 342l b
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t Question 3 I 6 marks wladle 6 } 3 ] JVpaalt ]
0

A communication satellite is placed GH e (3 SILAW (Flso jod 2aog e |

' in a circular orbit around the Earth at Cdaw o 340 km flas)l e 2 Jg=> |
| an altitude of 340 km from the S9luws RV Hhad cisas 0L lale ¢ 2y |
' Earth’s surface, knowing that the 6371 km |
radius of earth R is 6371 km. B Lo !
Calculate the following:
mg = 5.97x10* kg) o ~ (mg = 5.97210*" kg

a. The radius of the satellite's orbit. *,,__;-L:,an.q.aJiJL.thé a2

|
\I\:BMDXlDJW\ —

€1637\X\0M INC.=(.6.3£.\.
| 1
g 6:0.201n KA
ﬁ Y = ré _ ) 1
' b. The period of the satellite. Floall yarll 594l (a3 b
........................ :"“zl I
............. "
Question 4 6 marks i cldle 6 4 | Qg
e e T R - = Mhﬁb.w.‘ﬂn"'l
A car is moving clockwise around 2 :JLLI JFL&;.:H 'T I:l.i;a}mﬁm"* 5 (5,50
il R )l . -
circular path rEP"ESE”tEdth::E | L gianis 03 P dlaiil] dis
e | T :
circle below. Draw and labe S o o 1o
| ‘ ctors at point P: e *"“‘I L..Jj ke
following vect ac §55yall gyl
a. Velocity v Fo 435y0ll 98l .C

b. Centripetal acceleration ac
c. Centripetal force Fe
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: The iby car in the figure below runs off
the edge of a table that is 1.225 m high.
' The car lands 0.400 m from the base of

the table.

— 4

e \ <SR

a. How long did it take the car to fall?

_\ \ |
A =Ygyl
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Jiwdg 1.225 m lgela) A a9l 49l>
Aglall 54cd y0 0.400 M Aas dadi s
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